S ERSE ERR ks
ug%*’giLj#quiIT&%‘%%g =
EE%%*@}_L#_J'\_;E:T_T_&t%%‘ELaZ 2017-09-01 = |1
EE%c&F’EiH#EE;T%{_Bt?ﬂ—’F—?—MZ 5017-09_01 —EL 1‘21:53304 16.000 | Al Z=AF
o= = — =1 7 (= o T . R 3 IT e _
L2l ZOtH AT g 'O:_:_'_Txl—lt ojf=2o{H 017-09-04 | & :49:15 87,000 g}fug} stuichy o
i‘%!%%bgﬂﬂgg SEES Ty 2017-09-05 | ot 20:02:09 | 44.70 US54 —=oo] got A7 sl
T2 2= Of 2 Ar-elql e Flys ST ST |2017-09 of | 12:25:59 700 [5H SEYuF HLE
T RENEEEEE FUYES2HT 05| 3t 30,000 [ EEEEE 27 8 2 oo 2
SEPPESETE SEES AU REE) 2017-09-07 | = 1228:43| 21,0 LS SH i;qu”gm HEE zloo 4 208
2 = Of 7 ERREEEE SRR ||+ [2017-0 = | 12:46:44 000 Jot4) Aol fME 2 Y Zoo 9l 33
2 S UHAH TR T'—tc-’j—’FMI E{&F 9-07| = - 26,000 |24 TN, = e 200 2| 28
EE%%@:}_EI““ TEES S MEIPREE 2017-09-08 | = 13:15:17 | 96,200 |2 _l BT AR S 2 8ot 0] 22
EE%%Fi4A;IE%E$_$ﬂtO4;O—;Z 2017-09-08 = 12:48:32 54’008 EEIEEH%%M ;—7” 1‘13}'%%1 = St gt Ozo il :
Eﬁé%or;i‘—rucfﬂ%*xu DT Es T 2017 g | 16:43:24 : i 22 TR ST = Foo 9 238
PNEESECEESS EESIE 09-11] ¢ - 10 = S 0
35.;!";5(4/\5"_%? EEERLE 714 752017-09- 2 | 14:33:07 0,000 5t chutr Selofelile of5e loo 2l 1%
ﬂa'igﬁ*'ﬂ$§$°§$;5t A 7| 21 752017-09 1] & | 20:04:41 35,000 |HGICHE 54 FEEEEEEN AT e Hol 2oo 9 139
= ioj\_ — ; =4 —’7_|H = [= - _1 - . . 1 —= [ =3 A _l— [m=] 3:1 o
%ag§+ﬂA§IEﬁza$$at;E§f$ 2017:09-12 | & 1 12:35:08 000 1 FA i ] B 7 T
aaxm;*”eﬂ%ﬂ%ixu?ifég e 000 ot NEIAIT L E S oot 2 floo A 7'
aa.fc?ﬁﬁh"%dﬁog%l; e e e 54,000 |9t TR T oA ol S0 #1728
2| = O] A LA 2~ = FRHALT|=E -09- i =1 il — =2 =
ﬁﬂlx;?—'_lﬂ"_e-—#%ou*—?—im A7 752017-0 13] = [19:10:49 39,000 Jot tH 2| 7 X gE | woo 2 78
TEITRPNEESE ESFRT: ETESXet 9-14| =2 - 135,000 |3 AT EME = Oloo 2
33%%***¢EI‘“?Q‘?‘$Bt§L5;;I 2017-0914 | & 1256653 | 72,0 e Al =] 1o BT 5o 8t o
%E§%+;A;I§%ﬂ$$at§i§°T e e s Jedd STerE floo 7139
gaxOI_;""—TE.j—EOQ_?_ixlt';_'_I—E‘Pé" 2017-09 =] 15-:08:23 ,000 [ A SFAXE DA~ & oo 2| 3H
SRk Entu e b h2 L = R e -19] 3t - 10,200 (&H ARSI HA 2 = | A = & 9 Moo 2
EE%cggin;fu$$at%EoOﬂg 2017-09-19 [ & 18:23:15 |_102,00 SIS S ﬂoﬁo-ﬂ b — e o
%aggmgijﬁﬂ%ato@f;g 20170919 1 &1 1200344 02,000 151 SR e R e e
EENFET R, P el S ik 20170022 | 2 104812 ] 4o o oA T o R
854 < M= L -22 : NEEK = e ES
s 8 TN £ SERLRLLIN R o ST
EE%OF;iLT“%E%*’St;i“ = 20170026 | I 20:44:44 000 |54he 1 BH5H T2 2 — oo 2l 6
g;xa?*lﬂ‘?%%"é%;m f-r’}ﬂag 50770 26| 3 | 13:01:19 99,000 [SHA] NS E= _T'_|-7H|_—4 Moo 9| 3H
FETIFPNERSEIE B EEE 9-26 [ 3} ' 14,000 |2 AT A2 S gt 200 2
T2 = Of AT =35 [2017-0 22:09:29 . ot 4] OlRI2l I L Ifx| HA S | 20
AR EESEEaRE P e 2017 e I e Stoo 2/ 68
=QtX A_L.:.Tx_to,\ = -09- -90. = a4 YR AT =
szgr-oild"'e-—#% C.’:.*—'?—;N oA+ 21 7 62017-0 27| = | 18:52:58 28,000 |5t 54 [Metle A+ *F;'Tﬁgl Bloo < 4%
B RENE RS AT 2T 9-27| ' 36,000 |5 EPSTE=STpa) =L Too @
= oz B e e + [20:55:43 .000 Jot Y S 2dxd EE
HSYHE AT FojEds=a 7 9-28 | = 81,000 |3 NECGEYEE = 200 2
T = ol EESEE E=EP N ES 3= 12017-09 = 11:54:42 > SHA = AT 4XEYE WF [ 10
=A™ AHATHYN L 23z 5 28| = — 40.000 |aH FTESNEEREES H WA oA £ Otoo 2| 34
E—E‘;I_I =OFx] T ':'_l?_xxlt = T 2017-09 1 124206 2 = I—I-I:HKQAl 1 |_:1TA|~O'| e — Tall:.':' 30
=AU AHATHS =Xy X B -28 = 39000 | SE = EESES H 3 9| 3l00 @
aEé!xol_i_{Ar_T._—,[?:]‘_?_ix“;l_ 25 12017-09 = 15:00:41 > E)l! S| L2 | 3%
SUMAATHS ?:-il—?—:_;;t =295 [2017 09‘29 = 11-:03:50 65,700 _Lcl;_-ﬂ(nl_E) A ME 239 2™ oA =& 200 2| 4H
- FUHHATES T 0929 | 5 = 92,700 |2 — EPZI=I=ES —— = 200 2 =
=3+ 12017-09- = | 12:05:20 : AHIC =S A | ——— A dEF | 8%
29 % 13:01:55 27,600 %HI—H:H§2A_i J'tl’l:._l'ﬁ” 2 x| oo 2Rt OH ZALsH jg_;‘-sl 200 2| 29
31,000 (A SA |THE 2HEFR L Oloo 2| 34
oo OE,%XI;OOLQHQQ Stop 2] 3
x| A7l BAET] U 2 = 159
A2 Bt oA M ;00 Q79
Hoo 2| 3H




